NI RE K e

(—) MEEX: £ 10 HEHMAIIS = -
I S ﬂ?

ks 2hEk AR 5% FoH

BR) | AR) | BR) | (BR)
111 F£ 10 B 0 0
111 F1 £ 10H - 7 - 2
ELIEEST 2 22 9 7

() ZBEFEHE ; & 10 BESHT 2 -
S A T IR B

kg, BhEk B
(5R) (AR) (5R)
111 F 10 A 0 0 -
MN1IFE1ZE10H 3 12 8
% 6 @ &5t 13 38 11
(=) BhEIESHIEAAR %%%% HIEIL 17 8 % - 5545 8
Sl s 55 47 i IR AS 72
Ehikig, FhEk |EhRRATE|  EERK
(HE) | (AR) | (M) | ((BR)
111 F 10 A - - -
1M1F1ZE10H 2 46 30 1
% 6 JEEAGT 16 301 230 8
(0) EXRsmSEUEER £ 10 )%F:E/\)ﬂzﬁz 5%
j:/—\Elflﬂﬁ = >~ 4 ;F? °
B et AV A R =N 35 = P17
FRE S JBEER B
(35 R) (5NR) (35 R)
111 F 10 A - - -
1M1F1ZE10H 6 10 7
%6 @EGT 17 26 14
(h) ABEHERE KA
NEHEE KA IR 15 1
B A = Elapin B B 22 57
(%ER) (ER) (ZR)
111 F 10 A 5 3 1
1M1 F1210H 24 52 13
2 6 B &5t 37 84 33




